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Description automatically generated]                                        Ties Shoes

Score each response as follows: 
(+) correct  (FP) full physical prompt  (PP) partial physical prompt  (G)gesture  (M) model  (V) verbal: try to avoid these
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	1. [bookmark: QuickMark]Makes an "X" with the laces
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


	2. Places one lace under the other 
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


	3. Pulls the two laces tight to form a knot
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	4. Makes one loop with one lace
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


	5. Takes the second lace and wraps it around the loop
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


	6. Pushes the second lace through the opening to form a second loop
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


	7. Pulls the laces tight
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	


	
Percentage Correct:
	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	




Mastery Criteria:  100% for (2) consecutive session(s)
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